

Calgary

Phone: 403-291-0686

Email: sales@goodtimepartyrentals.com

Okotoks

Phone: 403-938-1911

Email: sales2@goodtimepartyrentals.com

https://www.goodtimepartyrentals.com/

	_	
About Us	Pg.	1
Sizing Chart	Pg.	2
Table & Chairs	Pg.	3
Linens	Pg.	4 & 5
China	Pg.	6 & 7
Flatware	Pg.	7 & 8
Glassware	Pg.	9
Beverage Equipment	Pg.	10 & 11
Wedding Accessories	Pg.	12
Centerpieces & Accessories	Pg.	13
Trays, Bowls & Platters	Pg.	14
Food Service Equipment	Pg.	15
BBQ's, Griddles & Cookers	Pg.	16
Event Equipment	Pg.	17 - 19
Tents	Pg.	20 - 22
Tent Walls & Accessories	Pg.	23
Lighting & Electrical	Pg.	23
Propane Heaters & Propane	Pg.	24

Prices subject to change without notice. Prices in effect November 1, 2022.

Pg. 25

Policies

About Us

Good Time Party Rentals has been in the party and event rental industry serving Calgary and surrounding areas for over 35 years. Our many years of service have allowed us to become one of the largest event suppliers in Western Canada. Our family owned and operated business has locations in Calgary and Okotoks. We are proud of our dedicated team who constantly strive to provide optimal service to caterers, party planners, corporate clients, weddings, graduations and hosts and hostesses. Our vast inventory can cover your every need. From tents, BBQ's, event furniture to linens, dinnerware and accessories, we will help you bring that special touch to your party or event.

Event Affiliations

- Calgary Exhibition and Stampede
- Calgary Stampeders
- Global Petroleum Show
- Canmore Highland Games
- Calgary Zoo

- Heritage Park
- Calgary Folk Festival
- High River Ag Society
- Calgary Global Fest

Calgary Hours of Service:
Monday to Friday: 9am - 5pm
Saturday: By Appointment
Sundays: Closed

Okotoks Hours of Service: Monday to Thursday: 9am - 5pm

Friday: 9am - 4pm

Saturday: By Appointment

Sundays: Closed

Suggested Seating

4' Banquet comfortably seats 4
6' Banquet comfortably seats 6
8' Banquet comfortably seats 8
48" Round comfortably seats 6
60" Round comfortably seats 8
72" Round comfortably seats 10

Linen Pize Chart

52"x52" - fits 24" square, 30" & 36" tables
72"x72" - fits 48" & 60" round tables, tall cocktail tables
85"x85" - fits 60" round tables, tall cocktail tables
52"x114" - fits 6' & 8' mid length banquet tables
90"x156" Oval - fits 8' banquet tables floor length
90"x132" Oval - fits 6' banquet tables floor length
90" Round - fits all round tables
120" Round - fits 30" tall cocktail, 60", 72" round tables
132" Round - fits 72" round table floor length

Tables

4' Banquet Plastic 24" wide ea. \$10.00 8' Banquet 18" wide Classroom Table ea \$15.00 6' Banquet 30" wide ea. \$12.00 8' Banquet 30" wide ea. \$14.00 Serpentine 30" wide ea. \$21.00 48" Round ea. \$12.00 60" Round ea. \$14.00 72" Round ea. \$21.00 30" Round Cocktail Table 29" high ea. \$18.95 30" Round Cocktail Table 44" high ea. \$18.95 Picnic Table 6' Plastic ea. \$40.00

Chairs

ea. \$2.00 **Black Plastic Folding** ea. \$2.00 **Maroon Plastic Folding** ea. \$2.95 White Plastic Folding ea. \$5.95 White Resin - Padded Folding ea. \$6.00 **Navy Blue Banquet Stacking** Bar Stool Black Folding w/ Back ea. \$8.50 ea. \$7.95 Bar Stool Black w/ Charcoal Legs ea. \$4.00 **Hunter Green Plastic Stacking** ea. \$8.50 **Booster Seat** ea. \$29.00 High Chair

Square Table Linens	
52" x 52" White & Black	ea. \$7.00
52" x 52" Assorted Colours	ea. \$9.50
72" x 72" White & Black	ea. \$7.00
72" x 72" Assorted Colours	ea. \$9.50
85" x 85" White & Black	ea. \$8.00
85" x 85" Assorted Colours	ea. \$10.50
Buffet Table Linens	
52" x 114" White & Black	ea. \$8.00
52" x 114" Assorted Colours	ea. \$10.50
90" x 156" Oval (white, black, ivory,red)	ea. \$24.50
90" x 132" Oval (white, black, ivory,	ea. \$22.50
chocolate brown)	
Round Table Linens	
90" Diameter (black, white, ivory, red,	ea. \$14.50
navy, royal blue, hunter green, burgundy)
120" Diameter (white, black, ivory,	ea. \$21.50
red & white check)	
132" Diameter (white, black, ivory)	ea. \$25.00
30" Tall Cocktail Spandex (black,	ea. \$25.00
white, ivory, red, navy, royal blue)	
Table Skirting	
Velcro Skirting - Cotton	ea. \$20.00
14' section with clips	
*Available in white, black, ivory, burgundy,	
hunter green, red, royal blue	
Velcro Skirting - Poly Knit	ea. \$17.00
14' section with clips	166
*Available in white, black, burgundy, champagne	

*Available in white, black, burgundy, champagne dusty rose, hunter green, red, royal blue, navy blue, yellow

Linens 4

Spandex Table Linens

30" Tall Cocktail Table (black, ea. \$25.00

white, ivory, red, navy, royal blue)

6' Banquet Black ea. \$30.00

8' Banquet Black ea. \$35.00

Table Runners

13" wide x 108" long Assorted Colours & ea. \$12.50

various elegant syles

13" x 108" Majestic Satin ea. \$8.00

*Assorted Colours Available

Chair Covers & Sashes

Satin Round Back Banquet Chair - ea. \$4.00

Black, White, Ivory

Satin Spandex Ruche - Black, White, ea. \$3.75

Ivory

Organza 8" x 100" Sashes ea. \$2.00

*Assorted colours available

Satin 8" x 100" Sashes ea. \$2.00

*Assorted colours available

Napkins

17" x 17" Linen Dinner ea. \$1.00

*assorted colours available

Silver Napkin Ring ea. \$0.75

Brass Napkin Ring ea. \$0.75

Pearl Napkin Ring ea. \$1.00

Linens 5

Plain White (Jupiter)		
Yean While (Jupiler)		
	per doz. \$ 7.95	
Dessert or Salad Plate 8"	per doz. \$7.95	
Side Plate 6"	per doz. \$7.95	
Rimmed Soup Bowl	per doz. \$7.95	
Soup Bowl	per doz. \$7.95	
Teacup & Saucer	per doz. \$10.85	
Gold Line (Noritake)		
Dinner White 10"	per doz. \$8.75	
Dessert or Salad Plate 8"	per doz. \$8.75	
Side Plate 6"	per doz. \$8.75	
Soup Bowl	per doz. \$8.75	
Teacup & Saucer	per doz. \$11.85	
Silver Line (Spectrum)		
Dinner White 10"	per doz. \$9.75	
Dessert or Salad Plate 8"	per doz. \$9.75	
Side Plate 6"	per doz. \$9.75	
Soup Bowl	per doz. \$9.75	
Teacup & Saucer	per doz. \$12.75	
Fruit Nappie	per doz. \$9.75	
Cream & Sugar	per set. \$5.95	
Meat Platter	ea. \$4.75	
Vegetable Bowl	ea. \$4.75	
Royal Doulton		
Dinner White 11"	per doz. \$9.75	
Dessert or Salad Plate 8"	per doz. \$9.75	
Side Plate 6"	per doz. \$9.75	
Soup Bowl	per doz. \$9.75	
Teacup & Saucer	per doz. \$12.75	
Cream & Sugar	ea. \$5.95	

China 6

Square Dinnerware

Dinner White 10"	per doz. \$9.95
Dessert Plate 7"	per doz. \$9.95
Side Plate 5"	per doz. \$9.95
Teacup & Saucer	per doz. \$11.95

Miscellaneous Items

Glass Side Plate 6"	per doz. \$7.9	95
Glass Dessert Plate 8"	per doz. \$7.9	
Glass Fruit Nappie 5.5"	per doz. \$7.9	
White Bouillon Bowl	per doz. \$7.9	
Sundae Dish	per doz. \$7.9	95
Shrimp Cocktail Dish	ea. \$3.7	75
Cream & Sugar	per set \$5.0	00
Charger Plate (Gold or Silver)	ea. \$2.2	25

Miscellaneous Utensils

Black Handle Steak Knives	per doz.	\$6.00
SS Plain Butter Knives	per doz.	\$6.00
Small Serving Spoon	ea.	\$2.50
Small Serving Fork	ea.	\$2.50
Large Serving Spoon (Solid or Slotted)	ea.	\$2.50
Queen Ann Serving Spoon	ea.	\$2.50
Queen Ann Carving Fork	ea.	\$2.50
Cake or Pie Server	ea.	\$2.50
Salad Serving Set	ea.	\$4.75
Carving Knife	ea.	\$5.50
Tongs 8", 10", 12"	ea.	\$2.50
Flipper	ea.	\$2.50
Ladle (Various Sizes)	ea.	\$2.50
Lobster Picks	ea.	\$1.25
Lobster Crackers	ea.	\$1.25

Stainless Steel (Roma)

Dinner Knife	per doz. \$6.00
Dinner Fork	per doz. \$6.00
Salad or Dessert Fork	per doz. \$6.00
Teaspoon	per doz. \$6.00
Dessert Spoon	per doz. \$6.00
Soup Spoon	per doz. \$6.00

Stainless Steel (Thor)

Dinner Knife	per doz. \$6.00
Dinner Fork	per doz. \$6.00
Salad or Dessert Fork	per doz. \$6.00
Teaspoon	per doz. \$6.00
Dessert or Soup Spoon	per doz. \$6.00

Nickel Stainless (Marquis Pattern)

Dinner Knife	per doz.	\$7.50
Dinner Fork	per doz.	\$7.50
Salad or Dessert Fork	per doz.	\$7.50
Teaspoon	per doz.	\$7.50
Soup or Dessert Spoon	per doz.	\$7.50
Butter Knife	per doz.	\$7.50
Small Serving Spoon	ea.	\$2.50
Small Serving Fork	ea.	\$2.50

Flatware 8

Standard Glassware		
Water Goblet 10 oz.	per doz.	\$7.75
Hi-ball Elite 9 oz.	per doz.	\$7.75
Hi-ball Elite 12 oz.	per doz.	\$7.75
Old Fashion Elite 10 oz.	per doz.	\$7.75
Pilsner 14 oz.	per doz.	\$7.75
Punch Cup 5 oz.	per doz.	
White Coffee Mug	per doz.	\$7.75
Glass Coffee Mug	per doz.	\$8.50
Shooter Glass 1 oz.	per doz.	\$7.75
Stemmed Glassware		
Wine 5 oz.	per doz.	\$7.75
Wine 8 oz.	per doz.	\$7.75
White Wine 8 oz.	per doz.	\$7.75
Wine 10 oz.	per doz.	\$7.75
Stemless Wine 17 oz.	per doz.	\$7.75
Wine 22 oz.	per doz.	\$8.50
Flute Champagne	per doz.	
Cognac 5 oz.	per doz.	
Liqueur <mark>1 oz.</mark>	per doz.	
Sherry 2 oz.	per doz.	
Brandy Snifter 12 oz.	per doz.	
Champagne Saucer 5 oz.	per doz.	
Martini Glass 10 oz.	per doz.	
Margarita 17 oz.	per doz	. \$8.50
Royal Doulton Crystal		
Wine 9 oz.	per doz.	
Wine 13 oz.	per doz.	\$9.00

Madan Cidzini	
Wine 9 oz.	per doz. \$9.00
Wine 13 oz.	per doz. \$9.00
Flute Champagne 5 oz.	per doz. \$9.00
Old Fashion 10 oz.	per doz. \$9.00
Hi-ball 10 oz.	per doz. \$9.00
Hi-ball 12 oz.	per doz. \$9.00

Glassware 9

Bar !	Equipm	ent
Dlack C.		

ea. \$125.00
ea. \$40.00
ea. \$30.00
ea. \$10.00
ea. \$30.00
ea. \$17.50
ea. \$2.25
ea. \$4.25
ea. \$12.00
ea. \$19.00
ea. \$5.00
ea. \$5.00
ea. \$2.50
ea. \$8.50
ea. \$2.00
ea. \$2.00
ea. \$2.00
ea. \$2.00
ea. \$3.00
ea. \$2.50
ea. \$9.25
ea. \$2.25
ea. \$2.75
ea. \$5.00

Coffee Urns

36 Cup Urn	ea. \$22.00
55 Cup Urn	ea. \$25.00
100 Cup Urn	ea. \$27.00
100 Cup Thermo Container	ea. \$30.00
60 Cup Samovar (Brushed Stainless	ea. \$45.00
Steel)	
60 Cup Samovar (Silver)	ea. \$70.00
36 Cup Farberware	ea. \$30.00
55 Cup Farberware	ea. \$35.00
Coffee Server SS 48 oz.	ea. \$3.50
Coffee Butler 40 oz.	ea. \$6.75
White Teapot 20 oz.	ea. \$4.00
White Teapot 48 oz.	ea. \$7.00

Punch Fountains

3 Gallon (48 cups) ea. \$80.00 5 Gallon (80 cups) ea. \$95.00

Punch Bowls/ Gervers

8 qt. (32 cups) Glass Punch Bowl ea. \$10.00
11 qt. (44 cups) SS Punch Bowl c/w Ladle ea. \$15.00
16 qt. (64 cups) SS Punch Bowl c/w Ladle ea. \$18.00
20 qt. (80 cups) Punch Bowl c/w Ladle ea. \$22.00
Glass Jar c/w Lid for Punch ea. \$18.00
1.5 gal (24 cups) Glass Punch Dispenser ea. \$26.00
3 Gal (48 cups) Glass Punch Dispenser ea. \$35.00

Cupcake Stands

3 Tier Round Silver	ea. \$27.50
3 Tier Round White	ea. \$27.50
3 Tier Square Pewter	ea. \$27.50
5 Tier Round White	ea. \$35.00
5 Tier Square Pewter	ea. \$35.00
Glass Cake Stand 12" Round	ea. \$5.00

Wedding Archways & Accessories

ea. \$150.00
ea. \$150.00
ea. \$200.00
ea. \$250.00
ea. \$30.00
ea. \$2 <mark>5.00</mark>
ea. \$3 <mark>0.00</mark>
ea. \$50.00
ea. \$35.00
ea. \$15.00
ea. \$12.00
ea. \$6.00
ea. \$110.00
ea. \$15.00
ea. \$75.00
ea. \$120.00

Centrepieces & Accessories

Tall Hurricane Globe 16"	ea. \$6.00
Glass Taper Candle Holder	ea. \$1.25
Clear Globe Votive	ea. \$1.25
7.5" Cylinder Vase	ea. \$3.00
9" Cylinder Vase	ea. \$3.00
10" Cylinder Vase	ea. \$3.00
Brandy Snifter 22 oz.	ea. \$3.00
Rimini Glass 6"	ea. \$3.00
Rose Bowl 6"	ea. \$2.50
Clear Cylinder Budvase	ea. \$2.00
White Budvase 9"	ea. \$2.00
Clear Budvase 9"	ea. \$2.00
Ming Bowl	ea. \$6.00
Footed Ming Bowl	ea. \$6.00
Eiffel Tower Vase 24"	ea. \$6.00
Martini 48 oz. Centrepiece	ea. \$6.00
Stemmed Urn 10"	ea. \$6.00
Bubble Ball 10"	ea. \$6.00
Vase Rectangular 9"	ea. \$6.00
Tuxedo Vase	ea. \$6.00
Silver Tapered Candle Holder 2"	ea. \$2.00
Square Glass Holder 3"	ea. \$3.00
Square Tapered Bowl 4 1/2"	ea. \$4.00
Votive Tray Hammered Metal	ea. \$4.00
Round Table Mirror 12"	ea. \$4.00
Rectangular Table Mirror 16"x8"	ea. \$4.00
Rustic Wooden Lantern 14" tall	ea. \$12.50
c/w battery operated candle	
Rustic Wooden Lantern 21" tall	ea. \$17.50
c/w battery operated candles	

τ_{100}	
Table Accessories	
Pickle Dish	ea. \$3.25
Butter Dish	ea. \$3.25
Salt & Pepper (Filled)	set \$3.25
Elite Salt & Pepper (Filled)	set \$4.50
Glass Cream & Sugar	set \$4.00
Bun Basket Black	ea. \$4.00
Gravy Boat SS or China	ea. \$3.00
Glass Pitcher 60 oz.	ea. \$4.50
Plastic Pitcher 60 oz.	ea. \$2.50
SS Table Stand 12" & #'s	ea. \$2.25
Brass Picture Frame Table Stand	ea. \$3.00
Silver Picture Frame Table Stand	ea. \$3.00
Ω	
Ronke	
China White Bowl 9"	ea. \$6.75
China White Bowl 11"	ea. \$7.00
Square White 12"	ea. \$8.75
Glass Bowl 9"	ea. \$3.00
Glass Bowl 11"	ea. \$3.50
Pebble Bowl 12"	ea. \$4.00
Pebble Bowl 15"	ea. \$4.50
Pebble Bowl 18"	ea. \$6.50
Pebble Bowl 24"	ea. \$9.00
T 0 00 11	
Trays & Platters	
Glass Platter 14" Round	ea. \$3.00
Glass Cake Stand 12" Round	ea. \$5.00
China White Platter Oval 18"	ea. \$9.00
China White Platter Rec. 11"x17.5"	ea. \$9.00
China White Platter Square 16"	ea. \$10.00
SS Oval Small or Large Tray	ea. \$4.50
Elite SS Round Tray	ea. \$7.25
Elite SS Rectangular	ea. \$7.25
Elite SS Oval Tray Large	ea. \$9.75
Hammered Metal Oval Tray 15"x11"	ea. \$8.25
Hammered Metal Oval Tray 15"x20"	ea. \$9.50
Silver Round Tray	ea. \$12.00
Silver Oval Tray	ea. \$12.00
Mirror Oval Tray 24"	ea. \$25.00
Waitress Tray 26"	ea. \$8.00
Waitress Stand	ea. \$8.00

Chafing Dishes & Service Items ea. \$55.00 12 qt. c/w fuel & 2 inserts Standard 6 qt. c/w fuel & 1 insert ea. \$27.00 12 qt. c/w fuel & 2 inserts ea. \$35.00 Classic 6 qt. c/w fuel & 1 insert ea. \$33.00 12 at.* c/w fuel & 2 inserts ea. \$48.00 4 qt. Round c/w fuel & 1 insert ea. \$33.00 *Available in shallow or deep pans with single, double or triple compartments (12 qt. only) Extra Chafing Dish Inserts - Single ea. \$5.50 Extra Chafing Dish Inserts -Dbl or Trpl ea. \$4.25 3 Well Electric Steam Table ea. \$210.00 6 Foot Salad Bar - Table Top ea. \$185.00 (Requires 6' Table) 4 Foot Beverage/Ice Table ea. \$35.00 Warming Cabinet (Electric) ea. \$395.00 Convection Oven (Electric) ea. \$425.00 Service Refrigerator 19.1 cu. ft ea. \$395.00 Warming Oven - thermal (holds 4 ea. \$49.50 **Inserts - inserts not included)** Heat Lamp c/w Tray & Carving Board ea. \$45.00 White Carving Boards ea. \$8.00 **Bake Sheets** ea. \$8.00 Soup Tureen (7.4qt c/w fuel) ea. \$25.00 Soup Tureen (11gt electric) ea. \$25.00 **Electric Crock Pot** ea. \$22.00 **Glass Hot Tray** ea. \$8.25 Salad Crock ea. \$4.00 **Butane Single Burner** ea. \$30.00 Extra Butane Cartridge (1.5 hrs) ea. \$14.95

Barbeques

Charcoal ((Charcoal	not	included)

2'x5' BBQ Only
Rotisserie & Hood 2'x5'

*Charcoal must be removed or

\$100.00 removal charge

Propane BBQ's

(Propane included - 20lb tank)

2'x4' Deluxe BBQ on Wheels ea. \$230.00
2'x4' Deluxe BBQ on Wheels c/w Hood ea. \$255.00
2'x4' Deluxe BBQ - Rotisserie ea. \$275.00

Deep Fryer -

ea. \$275.00

(Propane included - 20lb tank)

*Oil must be removed or \$100.00 cleaning charge

Pancake Griddles & Accessories

22" x 39" Flat top Griddle
(Propane Included - 20lb tank)

Pancake Dispenser
ea. \$210.00
ea. \$210.00
ea. \$39.00
ea. \$39.00

Lobster, Bean or Corn Cooker

Propane 80 qt. Pot & Basket
(Propane Included - 20lb tank)

Stock Pots 20 qt. (Basket N/A)

Stock Pots 40 qt.

Stock Pots 80 qt.

Lobster Crackers
Lobster Picks

Butter Warmers

ea. \$150.00
ea. \$25.00
ea. \$35.00
ea. \$50.00
ea. \$1.25
ea. \$1.25

Event Accessories	
Coat Rack c/w Hangers	ea. \$15.00
Garbage Pails c/w Bags	ea. \$10.00
Recycle Bin c/w Bags	ea. \$10.00
Hand Sanitizer Station	ea. \$45.00
Small Draw Drum - Brass	ea. \$20.00
Large Draw Drum - Brass	ea. \$25.00
Small Draw Drum - Acrylic	ea. \$25.00
Large Draw Drum - Acrylic	ea. \$30.00
Stanchions 7' Retractable	ea. \$17.50
Chrome Stanchion	ea. \$13.00
Red Rope 8' Stanchion	ea. \$8.00
Megaphone (Batteries not included)	ea. \$17.50
PA System & Music Player	ea. \$95.00
ION 600w Bluetooth Speaker	ea. \$125.00
Easel (Rustic Colour)	ea. \$19.00
Carpet Runner 3'x15' Red (Indoor use only)	ea. \$75.00
Carpet Runner 3'x25' Red (Indoor use only)	ea. \$120.00
(massi ase smg)	Ga. 0120.00
Prape	
Drape 8' - Setup	per ft. \$5.50
Drape 8' - Customer Setup	per ft. \$4.00
(Black, White, Royal Blue)	ρει π. ψ4.00
Drape 3' - Setup	per ft. \$5.50
Drape 3' - Customer Setup	per ft. \$4.00
(Black)	ρει π. ψπ.σσ
Drape 12' - Setup	per ft. \$7.50
Drape 12' - Customer Setup	per ft. \$6.00
(Premier Black)	ροι τι. φο.σο
Drape Blockout 8' - Setup	per ft. \$8.50
Drape Blockout 8' - Customer Setup	per ft. \$7.00
(Black)	ροι τι. ψ7.00
Wedding Drape 8' Customer Setup Only	per ft. \$7.50
Wedding Sheer Drape 10'x10' panel	
	ea. \$12.50
Wedding Sheer Drape 10' x 21' panel	ea. \$12.50 ea. \$22.50

Helium Tank H10-150 (fills approx.

150 - 10" balloons)

Helium Tank H10-230 (fills approx.

230 10" balloons)

**includes balloon filler attachment

**Prices subject to change based on current market pricing

**Larger sizes available. Please inquire.

Prices subject to market availability and pricing.

incession Equipment Popcorn Machine

Popcorn Cart

Sno-Kone Machine

Candy Floss Machine

Candy Floss Cart

ea. \$135.00

ea. \$45.00

ea. \$135.00

ea. \$135.00

ea. \$45.00

*Products available for concession equipment call for pricing

Triple Sink Stainless Steel

self contained

Triple Sink c/w waste tank, drain hose,

25' potable water hose & 50' ext. cord (requires access to power & water)

*A \$50 Cleaning charge will be applied if

sink is not returned cleaned.

20 gal. Fresh Water Tank with Pump

(for above unit)

Potable Water Hose 25'

Fire Extinguisher 5 lb.

(if discharged \$75.00)

Fire Extinguisher Wet Chemical

"K" Class

(if discharged \$250.00)

ea. \$395.00

ea. \$295.00

ea. \$100.00

ea. \$25.00

ea. \$30.00

ea. \$110.00

Lounge Furniture

White Sofa	ea.	\$225.00
White Love Seat	ea.	\$185.00
White Chair	ea.	\$155.00
Black Sofa	ea.	\$225.00
Black Love Seat	ea.	\$185.00
Black Chair	ea.	\$155.00
Black Coffee Table	ea.	\$35.00
Black Side Table	ea.	\$25.00

Staging

Grand	
Stage 4x4 12"-24" high	ea. \$40.00
Stage 4x4 25"-36" high	ea. \$45.00
Stage 4x4 37"-48" high	ea. \$50.00
Guard Rails	ea. \$19.00
Stair Rails	ea. \$12.50
Stage Stairs 12"-24" high	ea. \$40.00
Stage Stairs 25"-36" high	ea. \$45.00
Stage Stairs 37"-48" high	ea. \$50.00
Stage Skirt	per ft. \$1.75

Helpful Hints

sq.ft.

Banquet Tables 6ft - 8ft	10- 12	Per Person
Round Tables	12 - 14	Per Person
Stand Up Cocktail Party	6	Per Person
Theatre Seating (seated in rows)	8	Per Person
Classroom Seating	8	Per Person
Bar Area	200	Per 100 guests
Buffet Area	100	Per Table
Dance Floor	4 - 5	Per Person
Stage Area	10 - 16	Per Person
Head Table	16 - 20	Per Person
AND THE PROPERTY OF THE PARTY AND THE PARTY		

Lighting Calculations
Dependent on Customer
Needs:

100 watts per 100 sq. ft. Bright Display

100 watts per 400 sq. ft. Soft Atmosphere

Tents 20

Canopy Tent - Customer Set-Up

10' x 10' Pop-Up Style	100 sq. feet	ea. \$175.00
Pop-Up Walls		ea. \$10.00
Pop-Up Weights		ea. \$10.00

Frame Tents - Staked

THE RESERVE AND ADDRESS OF THE PARTY NAMED IN	Rid L	OF THE STREET
10' x 10'	100 sq. feet	ea. \$425.00
10' x 20'	200 sq. feet	ea. \$550.00
15' x 15'	225 sq. feet	ea. \$550.00
17' Hexagon	256 sq. feet	ea. \$570.00
20' x 20'	400 sq. feet	ea. \$720.00
20' x 30'	600 sq. feet	ea. \$920.00
20' x 40'	800 sq. feet	ea. \$1080.00
30' x 30'	900 sq. feet	ea. \$1200.00
34' Hexagon	1044 sq. feet	ea. \$1295.00
30' x 60'	1800 sq. feet	ea. \$2200.00

Frame Tents - Weighted

		The second second
10 x 10'	100 sq. feet	ea. \$725.00
10' x 20'	200 sq. feet	ea. \$850.00
15' x15'	225 sq. feet	ea. \$850.00
17' Hexagon	256 sq. feet	ea. \$925.00
20' x 20'	400 sq. feet	ea. \$1020.00
20' x 30'	600 sq. feet	ea. \$1370.00
20' x 40'	800 sq. feet	ea. \$1530.00
30' x 30'	900 sq. feet	ea. \$2100.00
30' x 60'	1800 sq. feet	ea. \$3 7 50.00

The above pricing is for setup on grass. Additional charges may apply if setup is on gravel, asphalt or concrete.

Tents 21

Pole Tents - Staked

40' x 40'	1600 sq. feet	ea. \$1760.00
40' x 60'	2400 sq. feet	ea. \$2640.00
40' x 80'	3200 sq. feet	ea. \$3520.00
40' x 100'	4000 sq. feet	ea. \$4400.00
40' x 120'	4800 sq. feet	ea. \$5280.00
40' x 140'	5600 sq. feet	ea. \$6160.00
40' x 160'	6400 sq. feet	ea. \$7040.00
40' x 180'	7200 sq. feet	ea. \$7920.00
40' x 200'	8000 sq. feet	ea. \$8800.00
60' x 40'	2400 sq. feet	ea. \$2640.00
60' x 60'	3600 sq. feet	ea. \$3960.00
60' x 80'	4800 sq. feet	ea. \$5280.00
60' x 100'	6000 sq. feet	ea. \$6600.00
60' x 120'	7200 sq. feet	ea. \$7920.00
60' x 140'	8400 sq. feet	ea. \$9240.00
60' x 160'	9600 sq. feet	ea. \$10560.00
60 x 180'	10800 sq. feet	ea. \$11880.00
60' x 200'	12000 sq. feet	ea. \$13200.00
14		Malla

- Extra charges may apply for additional days, or weekly rentals. Please inquire.
- The above pricing includes walls.
- Window walls are available upon request.
- · Above tents include set-up and dismantle (staking), on grass.
- Additional charges may apply for locations that do not have vehicle access to site, or when set-up is on gravel, asphalt or concrete.
- Tent rates are from April 1st to October 31st. For Winter rates, please inquire.
- Customers are responsible for any & all permits which may be required.
- Customers are required to Call Alberta One Call for underground locates 1-800-242-3447.

Tents 22

Tent Walls & Accessories

Rain Gutters (Joins Tent)	per ft. \$2.00
Valance 2"x20"	ea. \$20.00
Zipper Door Wall 8'x10'	ea. \$30.00
Zipper Door Wall 8'x15'	ea. \$35.00
Zipper Door Wall 8'x20'	ea. \$40.00
Door Unit Single	ea. \$250.00
Door Unit Double	ea. \$330.00
Banner Pole (Attaches to Tent)	set \$80.00
Asphalt Drilling	ea. \$20.00
Asphalt Plugs (Installed)	ea. \$6.00
Stake Caps	ea. \$1.50
Flooring Outdoor Use only	Call for pricing
CADD Drawings/Site &	
Floor Plans	Call for pricing
	- 11 6

^{*}Extra charges may apply for additional days, or weekly rentals. Please inquire.

Call for pricing

Lighting & Electrical Accessories

Site Inspections

Halogen 500 c/w 50' ext. cord	ea. \$50.00
4 Globe Chandelier	ea. \$60.00
Vintage String Lights 48' Black -	ea. \$40.00
customer setup	
Vintage String Light Installed	ea. \$60.00
Single Lantern c/w Bracket	ea. \$40.00
Exit Light c/w Emergency Light	ea. \$65.00
Battery Backup	
Dimmer Switch	ea. \$40.00
Extension Cord 100'	ea. \$20.00
Extension 50'	ea. \$18.00
Silent Generator 15kW and Larger	Call for pricing
and/or Dower Dower Dietribution	100000000000000000000000000000000000000

Propane Heaters

170,000 BTU Forced Air Tent Heater requires 2-100 lb. propane (propane not included & charged at current market pricing)

ea. \$225.00

80.000 BTU Forced Air Tent Heater requires 1-100 lb. propane (propane not included & charged at

ea. \$175.00

current market price)

ea. \$175.00

Patio Heaters 45,000 BTU c/w 20 lb. Propane included

**Propane prices subject to change based on current market values

100 lb. Cylinder, Filled (Includes Rental of Tank) 30 lb. Cylinder, Filled (Includes Rental of Tank) 20 lb. Cylinder, Filled (Includes Rental of Tank)

ea. \$150.00

ea. \$55.00

ea. \$40.00

Prices:

Prices are based on a one day use. All prices are subject to change without notice. All rentals are subject to availability at the time of booking.

Payment:

A deposit is required upon booking. Any remaining balance is due in full upon delivery or customer pick up. We accept Visa, MasterCard, Debit, Cheque, Money Order and Cash. Prices do not include CST.

Security Deposit:

A credit card number and signature of cardholder is required for loss or damage of equipment if any may occur. Without this the rentals will not be released.

NO REFLINDS ON LINUSED RENTALS

Damage Protection Waiver Option:

A 10% damage protection charge will automatically be added to your contract (unless declined). Damage protection will cover the first \$100.00 of broken or damaged equipment and 50% of any additional damage or breakage. The remaining 50% will be the customer's responsibility.

Cancellation:

For Tent Rentals: 50% deposit is required to book all tents. Deposit will be refunded only if tent is cancelled 30 or more days prior to the delivery date, excluding Stampede Week.

For Equipment Rentals: deposit will be refunded only if equipment is cancelled 10 or more days prior to the delivery/customer pick up date, excluding Stampede Week.

Stampede Week Rentals: & Tent Rentals: 50% NONREFUNDABLE deposit is required to book all equipment.

Delivery & Pick Up:

For your convenience we have a Delivery & Pickup service. Please call our office for pricing. Delivery & pickup is based on a 9am to 5pm time frame and a ground level drop and pickup.

*Additional charges apply for specific times on deliveries & pickups, stairs, some elevators or if items need to be carried more than minimal distances. This policy applies to all rental equipment including tents.

After Hours Delivery & Pickups: Additional fees may apply, call for pricing.

Out of Town:

Fee is based on mileage calculated pending location and crew required, call for pricing.

Permits:

Customer is responsible for any and all permits which may be required. Each Municipal district has different bylaws. Contact the Municipal district your function is being held in for permit and bylaw information. Customers must call Alberta One-Call to map out any underground lines at 1-800-242-3447 or for a fee The Utility Locators 403-863-2473. A copy of the report must be submitted to Good Time Party Rentals. Due to insurance regulations, tents will NOT be set up unless this has been done.

For your convenience Good Time Party Rentals will contact both the Municipal district for permits and underground locates. This service is NOT INCLUDED in the rental prices. This is an additional fee please call for pricing.

Shipping and Returns:

Shipping: All equipment received should be inspected by the customer before acceptance. Please inspect all products to ensure no damage was done during transportation. Damaged rentals must be reported to the office within 24hrs of receipt of rentals.

Returns: The customer is responsible for packaging rental equipment in the crates and cartons they were received in. All dishes are to be returned rinsed and packed in original containers, un-rinsed dishes are subject to a @2.25 per dozen cleaning charge. This charge will be charged to the credit card number on file. The customer is responsible for having all rentals together, packaged in original crates and cartons ready for scheduled pick up time; failure to do so will be subject to additional labor and pick up charges.

Damaged and Missing Rentals:

All functions usually have a number of people involved with the handling of rental equipment; event coordinators, caterers, location staff, cleaning crew, guests and or any other people working the function. With this amount of people contributing to a function, rental items do get lost or misplaced. The customer who rented the equipment is responsible for the cost of any missing and/or damaged items. We understand the person placing the order may not be part of the clean-up crew, therefore we recommend you have one person from your clean-up crew to be responsible of ensuring all rentals are organized and ready for pick up, this helps with any discrepancies. If missing items are found after the rentals have been returned it is the customer's responsibility to return the items to Good Time Party Rentals. If you are unable to return the items we will pick them up from you for an additional cost. Missing and damaged items are billed out and charged to the credit card number on file. If missing items are returned a credit will be issued back to the credit card and late return fee's may apply.

Policies 25

GOD TIME Party Rentals

Calgary

4605 - 76th Avenue SE Calgary, AB T2C 3V3 Phone:403-291-0686

Email: sales@goodtimepartyrentals.com

Okotoks

105, 231 Don Seaman Way PO Box 153, Okotoks, T1S 1A5

Phone: 403-938-1911

Email: sales2@goodtimepartyrentals.com



Good Time Party Rentals Ltd.



goodtimepartyrentalsltd

https://www.goodtimepartyrentals.com/